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2. Circle the correct answer for each of the following

(a) The angle between the two equal sides in an isosceles triangle is a right angle.
The other angles must each be

45° 50° 40° 90° 55° [1]

(b) A regular shape will tessellate providing its internal angle is a factor of

90° 360° 180° 45° 100° [1]

(c) Huw is facing West. He turns clockwise until he is facing South.
He has turned through an angle of

90° 360° 270° 15° 6° [1]
4. (a) Solve the equation 7x-9=33 [2]
(b) A number machine is shown below

INPUT = SUBTRAST L . pvipeey2 ——= OUTPUT

Using the number machine, calculate

(i} the OUTPUT when the INPUT is 7 [1]

{iil  the OUTPUT when the INPUT is -5 1

(i} the INFUT when the QUTPUT is 10 1]



Find the size of angle 1. [3]
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(@)  Which of the following shapes are congruent? [1]



10. (a) Write down the n* term of the following sequence [2]

7, 10, 13, 16, .
(b) The n'" term of a different sequence is given by n? + 5

(i) Write down the first three terms of this sequence [2]
(c) Which term in this sequence is the first to have a value greater than 50? [2]

12. Simplify the following

(@) x8x x73 [1]

(c) Aboy on a bicycle travels x miles in 15 minutes.
His average speed in miles per hour is [1]

(circle the correct answer)

X X 15
— — 15x 4x —
15 4 X



16.

14,

fa} (i} Place cach of the whole numbers 42, 43, 44, 435, 46, 47, 45, 49, 50 in the correct

positions in the Venn diagram.

Prime numbers Multiples of 2

Multiples of 3

E]

i) A whole number 15 selected at random from the set (42, 43, 44, 43, 46, 47, 48, 49, 50,

Find the probability that the number selecied is

a prime number,

nol & prime numher,

a prime numher that is also o multiple of 3.

A potato producer uses a maching Lo sorl his potatoss,

The potato producer carried ool a survey Lo investigate the probahility of
oversized petatoes passing through his sorting machine,

The relative frequency of oversized potatoes passing through the machine
wis caloulated after a total of T00, 200, 30Kk, 40, S04 and G0 potatoes.
The results are plotted on the graph below,

Relative [requency of oversized potatoes
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i A trader offers to buy oversized potatoes at 15p each.

oversized potatoes in the Girst 10 potatoes sorted by the machineg?

fa)  Write down the best estimate for the probability that ong ol these potatoes, selected at
tandom, will be oversized.
Yo must give @ reason for your answer,

121

18. (a) Factorise x*> + x - 12, and hence solve x* +x-12=0 [3]




